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3 hir B w7 UnUN Lyl 34 36 70
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5T FNE £ N—E=—EJLAR 36 36 72
5T B2 K JGMFHE 38 34 72
7T INGFF B X N—E-—ER 37 36 73
1T Ea EN FELH#OY 37 36 73
1T HE K FEEHOY 36 37 73
1T =28 & FEEHOY 37 36 73
1T 28 X FELH#DOY 36 37 73
T JIE RFE FEELEHIY 38 35 73
T £H B FELAHOY 38 35 73
14T Fh s B~ R 36 38 74
14T AT 1&EF T£E 38 36 74
14T EAR IEFR MBS R 36 38 74
14T fEO S0E B~ R 38 36 74
14T B BEABA B~ R 36 38 74
14T AR ZRF] ARZEEF 4 R 36 38 74
14T 18R X T£E 37 37 74
14T Eg —& w7 Nk Ly 37 37 74
22T T—o— 4T {=Abgyb 39 36 75
22T ik =80 T£E 39 36 75
22T FEiR B2 {=Abyyb 39 36 75
22T =28 BE JGMFH = 38 37 75
22T BH RH TEE 40 35 75
22T =B B&iE FELAHOY 38 37 75
22T R EXK— T£E 35 40 75
29T TE s HItE 41 35 76
20T IR fin JGMFHE 39 37 76
20T Xg HRI: FELAHOY 42 34 76
20T BE S {=Ak9b 37 39 76
29T Wit B FEELEHIY 36 40 76
29T =E KB TEE 40 36 76
20T Bk EZA FELAHOY 37 39 76
20T L EE FEELEHIY 40 36 76
20T Jn@gE EEsh {=Argyb 39 37 76
29T alE H— HER 39 37 76
20T =& IEF FEELEHOY 38 38 76
40T Fih —HR BEHARAY-M 39 38 77
40T EE m# 17 UnUR YR 36 41 77
40T PO HAE BEHARA-M 36 41 77
40T H ERX NEZ—-EIR 40 37 77
40T Il === HIAE 39 38 77
40T EE Bt JGMFHE 39 38 77
40T gk IEsE NEZ—-EIR 38 39 77
40T x=E = FEELEHOY 39 38 77
40T WA R FEELHIY 41 36 77
40T WX 2z T£E 41 36 77
40T /R F=E BT R 37 40 77
40T WiE $hEE FEELHOY 40 37 77
40T LE EARER 17 Unob Ly 38 39 77
40T VN B FEELHOY 40 37 77
40T FE L FEELHOY 41 36 77
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55T RER #% FEEHOY 38 40 78
55T EERF 8 17 UnUR Ly 41 37 78
55T F| EX FEEHOY 40 38 78
55T 20 — N—E=—ELR 39 39 78
55T BmE Mt B~ R 40 38 78
55T NEEEE w7 Unuh Ly 39 39 78
55T =B IF= FEEHOY 37 41 78
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55T #h L FELAHOY 38 40 78
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64T i EE {=ArgyE 41 38 79
64T B =EX FELAH#DOY 45 34 79
64T A H RIX TfE 41 38 79
64T B BB FELH#DOY 35 44 79
64T INE ESR N—E_—EIR 42 37 79
64T A5 EX FELAHOY 41 38 79
64T HE B FEEHOY 40 39 79
64T ¥F lE—EBR FEHR 42 37 79
64T BRE S A =AYy 38 41 79
64T =8 M— FELAHOY 40 39 79
76T A #H— HBEARAV-M 41 39 80
76T ik B B~ R 39 41 80
76T At+E B— {=Akyb 41 39 80
76T N BB TE FEHR 42 38 80
76T Hh #& FELAHOY 43 37 80
76T 1&g T£E 40 40 80
76T S EL T£E 39 41 80
83T 12l R1E FELAHOY 41 40 81
83T K EE {=Abyyb 39 42 81
83T FE FH AItE 40 41 81
83T 2% Bh NE-—EIR 41 40 81
83T JIlO %8R A BE~ R 41 40 81
83T Tl Kk FEHR 40 41 81
83T B HE A BE~ R 39 42 81
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83T Ak Kt {=Ar9b 40 41 81
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95T My Ee FEELEHIY 45 37 82
95T N {=Ar9b 44 38 82
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95T KB EiE FELHOY 39 43 82
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95T =48 KEf JGMFHE 40 42 82
95T b ¥ Fi i 42 40 82
95T 2K B— HEHR 39 43 82
110T ML B2 HItE 44 39 83
110T Bk = JGMFH=E 43 40 83
110T LR BN B 44 39 83
110T FH #B— T£E 42 41 83
110T HO EH T£E 43 40 83
110T BTH H= FEHR 45 38 83
110T K FLE FEELHOY 42 41 83
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110T JRE FEE mEH 44 39 83
110T £ EE {=Abgyb 38 45 83
110T FH AKX HnEH 41 42 83
110T A = AEME 40 43 83
110T 3 Bk {=Abgyb 42 41 83
110T H#E Iﬁlliz’é FEEHOY 43 40 83
110T xR B— N—EZ—FIR 45 38 83
1247 B0 IEiE TEE 44 40 84
124T B2E fi— MEF~ IR 41 43 84
124T LI =& FEHR 41 43 84
124T i1 Ktk FELHIY 42 42 84
124T BHHE #XER FELH#OY 44 40 84
124T dAR EF— FELAH#DOY 43 41 84
130T E# B FELAH#DOY 42 43 85
130T A& = FELHIY 47 38 85
130T ER B T£E 47 38 85
130T rtE =4 MEF~ R 42 43 85
130T AIEA HE FELH#OY 43 42 85
130T Il j&E— ANENE 43 42 85
130T Fi& WAl TfE 43 42 85
130T BRix Fiah T£E 43 42 85
130T fElE R FEELEHIY 41 44 85
139T A& 7—ER {=Abyyb 45 41 86
139T Hhig #H i 46 40 86
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1397 s N FELAHOY 45 41 86
139T EH #7 FEEHIY 46 40 86
139T S Bt {=Ak9b 41 45 86
139T IEE L2 T£E 45 41 86
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148T FiE HEE L5 zEHE 44 43 87
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148T BE EIE N—EZ—EIR 45 42 87
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165T & H EJ? AHEMNE 45 45 90
165T hf B HEHR 49 41 90
167T =57 %E HEHR 47 44 91
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169T 2R Ty HER 48 44 92
169T =gk B FEELEHIY 44 48 92
169T LH #BA FEELEHOY 46 46 92
169T JILE #A HEH 45 47 92
173T ZH K FEHR 45 48 93
173T MiE Rt FEELHOY 51 42 93
173T g0 1 FEHR 48 45 93
173T FUR {=Ay9b 48 45 93
173T =5 8 T£E 50 43 93
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